[ Efficiency vs vertpos |

= 0.0
g .009
.008
.007
.006
0.005
0.004
0.003

EHICIRACYYS ¥

0.954

10

2 10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase

Efficienq —— pom_mkFit_TThase

9,009+ +cferereeir et b
%) E

H
T

0.95!

30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0

> : : : : : : :
L S S e S e
B 008+
Y N NS G SO S s
P : : : : : : :
&)-006—""‘: """ SR e AR SRR AR
o : : : : : : :
i il St S A S
5] : : : : : : :
0.004f----i---=-- e oo AR e frocees
e

0.002

Ratio

J..h'U) .

Y17 S S R NS S S

0 -8 6 -4 -2 0 2 4

Sim. PV z (cm)



	Contents
	Page 1


